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Directions: For exercises 1-4, use the figure at the right.

1) W at anotlE_njmefo%lige 2!
| G

2) Name pomotfrlof on plane P. oW,
=1 ' :
3) Name the intersection of line n and plane . £ col %gfﬂrg :
4) Name the vertex of <ABD. 4 {l'fa gndr B
Cvmt\“lﬂ}" =

5, Find the distance between the two points. Then find the midpoint of t

points, ( 1, ﬁ) (2 8 (g_..—]j:._l,_ (B“G)" -

z l'ﬂlt!{:tll'lg
(ﬂ*"" b+B i 33 & 3014*'* —m

(‘, Find the penmetera area of thca"angle w1th vertices 4(-0,0]), B( 2, 1]) and C'( g 3)
See. O™V PP

)Fmd the area of the rectangle defined by L(—4, 2), M(3, 2), N(3, -3), and P(—4, -3). Round decimals to the

nearest tenth. gm ?h ? ‘-p e

8 Solve forx.and find WK if K is between W and H and WK=6x+2, KH=4x, and WH=42. \,UK'—'-‘
')..

l,_ —-——L\"}- ia bx++yy= u( (o X ¥

W XA ¢ HY

mZJHI = (2x + 7)° and m£GHI = (8x - 2)° and m£JHG = 65°.

O,  FindmIiland meGHI 99+ 1 +HBx- 2= (L5 pg.?\:\]]:" hLC;Ipr
ox+5265 ) 341 §_¢5

X=(p
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Practice Test:
€. The end points are given. Find the coordinates of the m]dpﬁlnt M.
P(-2,7) and Q (10, -3)

(523 )

|V . The midpoint M and one endpoint of JK are given, Find the coordinates of the

other endpoint. J(7,2) and M (1,-2). Sﬂ'e- 91{19.?’?\ pa_pe('

3 1 .
Name a p:iruf vertical angles in the figure above. <9&ﬂd {U‘ 02 (5“M "‘-’-l
T még-.'.‘f){-lo &,nag"m/_(_f—"?)}c-i-lf)ﬂ ?nndL{)C ﬂ)c} ol ﬂ.ﬂﬁlﬂ.
meaures. 10 » ~Sxeiol mz_?. (20)-0 =10
+3x 0 4+1x +10 =770
-u =\ |X= 2D m-ﬂ'é;-lS'D-']D =\\0’
2 Name an angle adjacentto LAOB. } ,{_} Fmlior=22° and mf{é} zsolthgwhm g R
4%{)&, (-(COE:»
. aste 4T
H
; ’f‘bg
7 30
o . =

What is the area of the figure?

. I_.JF SEEER TR
5 Find thcpcﬁmeterofthe triangle to fhe nearest whole unit. b gl i o -3 I
s ens P=lo+Emnih e L
1] N =2.1b +5,60L+5.) ite o ol
-] =13.9 Ny
= &=
\ @ R.S ey
5‘53‘:"‘%; ¢ b‘gmre(ﬂ or HP\ EE;‘?‘?E
RS= V-llf-"'\ m (WX 7=50,5° X
Find m{?_‘)i‘/"5°- X >
ond m LWX, 6)° b
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